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1.What are three reasons a router would send out an I1S-IS link-state PDU? (Choose three.)
A. A new external route is imported from BGP.

B. The router’s link to a neighbor goes down.

C. A new neighbor exists on the link.

D. The cost of a link to an existing neighbor has changed.

E. IS-IS sends link-state PDUs at random intervals.

Answer: B,C,D

2.You have an OSPF NSSA area that is also receiving IS-IS routes on the ASBR.
In this scenario, which LSA type is used to announce external I1S-IS routes?

A. Type 7

B. Type 8

C. Type 1

D. Type 4

Answer: A

3.You are a service provider and have multiple customers in a building.

You are installing a new switch that can host all of your customers. However, you would like to ensure that
one customer cannot see or broadcast to another customer.

You would also like to have them use a common gateway IP address from the building.

What should be used to provide this access?

A. VLAN

B. private VLAN

C. filter-based VLAN

D. Layer 2 tunneling

Answer: B

4.You are troubleshooting OSPF issues on your device.
You run a trace log and receive the error shown in the exhibit.

ignored: area stubness mismatch from 10.0.1.1 on intf ge-0/0/0.0 area
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What would case this error?
A. missing route policy
B. stub area mismatch
C. MD5 authentication error
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D. subnet mismatch
Answer: B

5.Click the Exhibit button.

{fmaster:0} [edit interfaces]
userfswitch-1# show
interface-range range-1 |{
member ge-0/0/10;
member-range ge-0/0/6 to ge-0/0/8;
unit 0 4
family ethernet-switching;

}

Referring to the exhibit, which set of interfaces is enabled for Ethernet switching?
A. ge-0/0/6, ge-0/0/7, and ge-0/0/8

B. ge-0/0/6, ge-0/0/8, and ge-0/0/10

C. ge0/0/6, ge-0/0/7, ge-0/0/8, and ge-0/0/10

D. ge-0/0/6 and ge-0/0/8

Answer: C
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